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\|After selling a watch, Suraj found that he had made a loss of 10%. He also found that had he sold it for 
Rs.27 more, he would have made a profit of 5%. If now he sells his watch for Rs 540 find his profit 
percent.
एक घड़ी बेचने के बाद सूरज नें महसूस ककया कक उसे 10% का नुकसान हुआ । उसने यह भ़ी पाया
कक वह इसे 27 रुपए अकिक में बेचता तो , वह 5% का लाभकमाता । यकद अब वह 540 रुपए में
अपऩी घड़ी बेचता है उसका लाभ प्रकतशत ज्ञात क़ीकजये ।

(A)150% (B)100% (C)75% (D)200% (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

1440 of 37.5% + 1280 of 25%  = ? % of 2000

(A) 43 (B) 46 (C)48 (D)42 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

226 + 1230 +  16 × 19 −√ 1156= ?

(A)1737 (B)1726 (C)1762 (D)1736 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

23³ + 14 × 26 − 1244 − 26²= ?

(A) 10616 (B)10316 (C)10611 (D) 10112 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

12210 ÷ 30 + 3260  of 25%  −  58²= ?

(A)2148 (B)2146 (C)2132 (D)2142 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

26² − 324 + 1260 ÷ 6 + 2230= ?

(A)2768 (B)2784 (C)2792 (D) 2764 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

54.44 + 544.44 + 54.444 + 5.444 + 5444.4= ?

(A)6103.138 (B)6103.168 (C)1603.238 (D)1603.148 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

824 ÷ 8 × 12 −√11236 + 2236 = ?

(A)3330 (B)3340 (C) 3366 (D)3356 (E)3345



\
What value should come in the place of question mark(?)in the following questions?

5348 + 4783 + 2352 + 7532 +6532  = ?

(A)26587 (B)26547 (C)26534 (D)26574 (E)None of these



\
What value should come in the place of question mark(?)in the following questions?

27² + 22² −228 ÷ 4 +16 × 18 = ?²

(A) 38 (B)28 (C)30 (D)31 (E)None of these



\Directions (Q. 26-30):Direction for Question

Read the following information carefully to answer the questions asked following pie 

chart and table gives information about distribution of females and ratio of males to 

females. प्रश्न के कलए कनदेश कनम्नकलखित जानकाऱी को ध्यान से पढें और पूछे गए प्रश्नो ों के उत्तर देने के कलए
कनम्नकलखित पाई चार्ट और ताकलका मकहलाओों के कवतरण और पुरुषो ों के मकहलाओों के अनुपात के बारे में

जानकाऱी देत़ी है।

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3



\

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3

Q.26 :-If total number of males in Audi and BMW is 1876, find total number of females 
working in Hyundai company.
यकदऑड़ीऔर ब़ीएमडबू्ल्य में पुरुषो ों क़ी कुल सोंख्या 1876 है, तो हुोंडई कों पऩी में काम करने
वाल़ी मकहलाओों क़ी कुल सोंख्या ज्ञात क़ीकजए।

(A)940 (B)832 (C)696 (D)735 (E)630



\

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3

Q.27 :- 840 females work in Hyundai. Find total number of males working in Audi 
company.
हुोंडई में 840 मकहलाएों कामकरत़ी हैं। ऑड़ी कों पऩी में कामकरने वाले पुरुषो ों क़ी कुल सोंख्या
ज्ञात क़ीकजए।

(A)1930 (B)1612 (C)1484 (D)1568 (E)None of these



\

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3

Q.28 :- Find the ratio of male employees working in Maruti and BMW.

मारुकतऔर ब़ीएमडबू्ल्य में कायटरत पुरुष कमटचाररयो ोंका अनुपात ज्ञात क़ीकजए।

(A)Cnd (B)11: 8 (C)8 : 11 (D) 17: 9 (E)None of these



\

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3

Q.29 :- If total number of female employees in all five companies is 6000 then find total 
number of male employess working in Maruti and Tata.
यकद सभ़ी पाोंच कों पकनयो ों में मकहला कमटचाररयो ोंक़ी कुल सोंख्या 6000 है, तो मारुकतऔर र्ार्ा में
कायटरत पुरुष कमटचाररयो ोंक़ी कुल सोंख्या ज्ञात क़ीकजए |

(A)3096 (B)3144 (C)2946 (D)3219 (E)None of these



\

22, 22%

18, 18%

27, 27%

21, 21%

12, 12%

Distribution of female 
employees

Maruti

Hundai

Tata

Audi

BMW

Company Male Female

Maruti 5 4

Hundai 3 2

Tata 4 5

Audi 8 5

BMW 5 3

Q.30 :- If total number of male employees in Maruti, Tata and BMW is 18657 then find total 
number of females working in all five companies together.
यकद मारुकत, र्ार्ा और ब़ीएमडबू्ल्य में पुरुष कमटचाररयो ोंक़ी कुल सोंख्या 18657 है, तो सभ़ी पाोंच
कों पकनयो ों में एक साथकाम करने वाल़ी मकहलाओों क़ी कुल सोंख्या ज्ञात क़ीकजए।

(A)Cnd (B)15000 (C)24000 (D)27000 (E)30000



\
What should come at place of the question mark (?) in the following number series ?

11 . 13 , 14 , 30  , 111 , 367  ,  ?  

(A)990 (B) 989 (C)994 (D)992 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 43 , 97 , 205 , 421 , 853 , ?

(A)1717 (B)1719 (C)1718 (D)1715 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 337 , 344 , 363 , 402 , 469  , ?  

(A)570 (B)572 (C)573 (D)574 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 84 , 92 , 101 , 165 , 190 , ? 

(A)401 (B)406 (C)410 (D)411 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

15 . 1 , 65 , 165 , 309 , ? , 761

(A) 515 (B)510 (C)501 (D)505 (E)None of these



\
Direction (31 to 35 ):- In each question two equations numbered (I) and (II) 

are given. You have to solve both the equations and mark appropriate 

answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 



\Q.31 :- I. x² + 14x + 45 =0                        II.  y² + 7y + 12 =0

Q.32 :- I. x2 − 27x +180 =0                      II.  y2 − 26 y+165= 0

Q.33 :- I. x²+300x + 2051 = 0 II. y²− 200y −19241= 0

Q.34 :- I. 2x²+ 2103 =707x II. y2 +346y = 1047

Q.35 :- I. 2x2 − 25x + 78 =0 II. 3y² + 4y −119 =0



\In a school number of students in 9th and 10th class is in the ratio 6:11. If 60% of total students 
in class 9th are boys and 52% of total students in class 10th are boys, then find total girls in 
both the class together is approximately what percentage of total students in both the classes?
9 व़ी ोंऔर 10 व़ी ोंकक्षा में कवद्याकथटयो ोंक़ी सोंख्या 6: 11 के अनुपात में है। यकदकक्षा 9 व़ी ोंमें कुल
कवद्याकथटयो ोंमें से 60% लडके हैं और 10 व़ी ोंकक्षा में कुल कवद्याकथटयो ों के 52% लडके हैं, तो दोनो ों
कक्षाओों में कुल लडककयो ोंक़ी सोंख्या, दोनो ोंकक्षाओों में कुल कवद्याकथटयो ोंका लगभग ककतना प्रकतशत
है?

(A)55.2% (B)45.2% (C)35.2% (D)27.5% (E)32%



\In an office some persons are officers and some are non-officer. The number of officers is 30. 
The average salary of officers is Rs.1040 and that of non-officers is Rs.400. If the average salary 
of entire staff in office (officers + Non officers) is Rs.500 per month, then what is the average of 
total number of employees (officers + Non - officers) in the office 
एककायाटलय में कुछव्यखिअकिकाऱी हैं और कुछ गैर अकिकाऱी हैं। अकिकाररयो ोंक़ी सोंख्या 30 है।
अकिकाररयो ोंकाऔसत वेतन 1040 रुपये है और गैर अकिकाररयो ोंका वेतन 400 रुपये है। यकद
कायाटलय में सभ़ीकमटचाररयो ों ( अकिकाररयो ों+ गैर-अकिकाररयो ोंकाऔसत वेतन 500 रुपये प्रकत माह
है, तो कायाटलयमें कमटचाररयो ों (अकिकाररयो ों+ गैर-अकिकाररयो ों) क़ी कुलसोंख्याकाऔसतक्या है?

(A)96 (B)76 (C)86 (D) 46 (E)None of these



\A work is started by a man and it is assumed that he will finish the work in 11 days if working 
alone. Each subsequent day a new man joined the work. In how many days the four times the 
original work will be completed, if after the 8th day from the starting of the work no new man 
will be further added?
एककाम एकआदम़ी द्वारा शुरू ककया जाता है और यह माना जाता है कक वहअकेले कामकरने पर
11 कदनो ों में कामित्मकर देगा। प्रते्यकबाद के कदन एकनयाआदम़ी काम में शाकमल हुआ। प्रारों कभक
कायट के चार गुने कायट को ककतने कदनो ों में पूरा ककया जाएगा, यकदकायट शुरू होने के 8 वें कदन के बाद
कोई नयाआदम़ीआगे नह़ी ोंजोडा जाएगा?

(A) 5 (B)6 (C)7 (D)8 (E)9



\Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यतौल पैमाने के बजाय एक दुकानदार जाल़ी पैमाने का उपयोगकरता है। उन्ो ोंने िऱीदते
समय 1.4 ककलो से्कलका इसे्तमाल ककयाऔर बेचते समय 840g पैमाने पर, उनका कुललाभ
प्रकतशतक्या होगा, अगरअोंत में वह 10% छूर् प्रदानकरता है?

(A)30% (B)40% (C)50% (D) 60% (E)70%



\There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकस़ीि़ी रेिा में 3 कबोंदु P, Q औरR हैं, इस प्रकार कक कबोंदुQ, कबोंदु P औरR से समान दूऱी पर है।
एकआदम़ी कबोंदु P से R अनुप्रवाहक़ीओर 24 घोंरे् में औरQ से P उर्ध्टप्रवाह 16 घोंरे् में तैर सकता
है। शाोंत जलमें मनुष्यक़ी गकत तथा िारा क़ी गकतका अनुपात ज्ञातक़ीकजए।

(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these



\Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
कशल्पा ने रुपये काऋण कलया।कारिऱीदने के कलए 15,00,000।कों पऩी प्रकत वषट 20% पर चक्रवृखिब्याजवसूलत़ी है।
उसने त़ीन साल बाद भुगतान करने का वादा ककया। लेककनऋणकायटकाल के अोंकतम वषट के कलए, कों पऩी ने कपछले
एक सेब्याजदरको 25% बढा कदया। किर उसे जो अकतररि राकश देऩी थ़ी, वहउसके द्वारा कलए गएऋणक़ी राकशका
ककतना प्रकतशत है?

(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these



\|
A completes a work in 25 days working 8 hours a day. A started the work and worked for one day and 
next day B joined him who is twice as efficient as A. On next day C also joined them who is thrice as 
efficient as A and this process continues. In how many days total work will be completed if they work 4 
hour/day.
A ककस़ी कायट को 25 कदनो ों में करता है यकद वह प्रकतदन 8 घणे्ट कायट करता है। A कायट प्रारम्भकरता है और एक कदनकायट
करता है तथा अगले कदन B शाकमल हो जाता है जो कक A से दुगुना सक्षम है। अगले कदन C क़ी कायट में शाकमल हो जाता है
जो कक A का कतगुना सक्षम है और यह प्रकक्रया इस़ी प्रकार चलत़ी रहत़ी है। कुल कायट ककतने कदनो ों में समाप्त होगा यकद वे
एकसाथ कदन में 4 घणे्ट कायट करते हैं।

(A)4 7/15days (B)5 5/7days (C)5 3/4days (D)6 1/2days (E)None of these



\|The bus fare for one person is Rs.420 from Haridwar to Haryana and the train fare between the same 
places for one person is equal to three fourths of the bus fare for two persons between the same 
places. What is the total fare paid by 3 persons travelling by bus and 4 persons travelling by train 
between the two places?
एकव्यखिका हररद्वार से हररयाणा बसका ककराया 420 रु. है और उऩ्ी ों स्थानो ों के ब़ीच एकव्यखि
का र्र ेन का ककराया दो व्यखियो ोंका उऩ्ी ों स्थानो ों के मध्य के बस के ककराये का त़ीन चौथाई है। 3
व्यखियोों द्वारा बसका अदा ककया गया ककराया तथा 4व्यखियोों द्वारा र्र ेन का कुल ककराया ज्ञात
क़ीकजये ?

(A)3642 (B)4096 (C)2890 (D)3780 (E)None of these



\|The speed of a boat in still water is 16 km/hr. and the speed of the current is 2 km/hr. It takes a total of 
9.5 hours to row upstream from Point A to B and downstream from Point B to C. If the distance 
between Point A to C is one-third the distance between Point B to C, then what is the total distance 
covered by the boat from Point A to B and B to C?
एक नाव क़ी खस्थर जल में चाल 16 ककम़ी./घोंर्ा है और िारा क़ी चाल 2 ककम़ी./घोंर्ा है | यह कबोंदु A से
कबोंदु B तकऊर्ध्टप्रवाह जाने में और कबोंदु B से कबोंदु C तकअनुप्रवाह जाने में कुल 9.5 घोंरे् लेत़ी है। यकद
कबोंदु A से कबोंदु C के ब़ीच क़ी दूऱी कबोंदु B से कबोंदु C के ब़ीच क़ी दूऱी का एक कतहाई है, नाव द्वारा कबोंदु A 
से B और B से C तक तय क़ी गय़ी कुल दूऱीक्या है ?

(A)136km (B)147km (C)129km (D)144km (E)None of these



\|
In a partnership A invest Rs. 34800 and was joined by B after 6 months with investment of Rs. 43500. 
After another 6 months C also joined them with investment of Rs. 58000. If after two years total profit 
of Rs. 25270 is obtained. Find the share of B.
एकसाझेदाऱी में A ने 34800 रूपये कनवेश ककये तथा 6 मह़ीनो ों बाद B, 43500 रूपये कनवेश के साथव्यापार में शाकमल हुआ
औरअगले 6 मह़ीनें बाद C भ़ी 58000 रूपये के कनवेश के साथव्यापार में शाकमल हुआ। यकद 2 वषट के अन्तमें 25270 

रूपये का लाभ हुआ। B का कहस्सा ज्ञातक़ीकजए।

(A)7500 (B)76800 (C)8550 (D)8210 (E)None of these



\|Sanju covers 20 km distance with a speed of 5 km/h, then he covers the next 15 km with a speed of 3 
km/h and the last 10 km is covered by him with a speed of 2 km/h. Find out his average speed (in 
km/hr) for the whole journey. (Approx)
सोंजू ने 5 ककम़ी / घोंर्ा क़ी गकत के साथ 20 ककम़ी क़ी दूऱी तय क़ी, किर वह अगले 15 ककलोम़ीर्र क़ी
दूऱी 3 ककम़ी / घोंर्ा क़ी रफ्तार से तय करता है औरआखिऱी 10 ककम़ी क़ी दूऱी 2 ककम़ी / घोंर्ा क़ी
रफ्तार से तय क़ी जात़ी है। पूऱी यात्रा के दौरान उसक़ीऔसत गकत (ककम़ी / घोंर्ा) में ज्ञात क़ीकजये।
(लगभग)

(A)4.28 (B)5.15 (C)2.96 (D)3.21 (E)3.67



\|In mahendra the average salary of the entire staff in a office is Rs 24000 per month.The average salary of 
officers is Rs 92000 and of non officers is Rs 22000. If the number of officers is 15, then find the no of 
non-officers in the office.
महेंद्रा के एककायाटलय में पूरे स्टािकाऔसत वेतन 24,000 रुपये प्रकत माह है । अकिकाररयो ोंका
औसत वेतन 92000 रुपये और गैर अकिकाररयो ोंकाऔसत वेतन 22,000 रुपये है। यकद अकिकाररयो ों
क़ी सोंख्या 15 है, तो कायाटलय में गैर-अकिकाररयो ोंक़ी सोंख्या ज्ञात क़ीकजये ।

(A)505 (B)610 (C)575 (D)476 (E)None of these



\Direction for Question : - Read the following passage carefully and answer the

questions given below. कदये गये अवतरण को ध्यानपूवटक पढे तथा पूछे गये प्रश्नो ों का

उत्तर द़ीकजए

A small survey was conducted over 250 persons to find which kind of movie they like from

Bollywood, Hollywood and South India. 10% people don't like any kind of movie. 12 person like

Bollywood and South but not Hollywood which is 50% more than the number of person like all

three kind of movies. Number of person who like Bollywood and Hollywood but not South is

equal to the number of person who like Bollywood and South Indian. Number of person who

like Hollywood and South Indian movies is 3 more than that of who like Bollywood and South

Indian. Ratio between number of person who like only Bollywood only Hollywood and only

South Indians is 13:12:9.

250 व्यखियोों पर एक छोर्ा सवे आयोकजत ककया गया यह जानने के कलये कक वे ककस प्रकार क़ी किल्में

पसन्द करते हैं बाल़ीवुड, हॉल़ीवुड या साउथ इोंकडयन 10% व्यखि ककस़ी प्रकार क़ी किल्म पसन्द नह़ी ों

करते हैं 12 व्यखि बॉल़ीवुड तथा साउथ इोंकडयन पसन्द करते हैं। लेककन हॉल़ीवुड नह़ी ों जो कक त़ीनो ों

प्रकार क़ी किल्में पसन्द करने वालो ों से 50 प्रकतशत अकिक है। उन व्यखियोों जो बॉल़ीवुड तथा हॉल़ीवुड

पसन्द करते हैं। ककनु्त साउथ इखियन किल्में नह़ी ों पसन्द करते हैं क़ी सोंख्या उन व्यखियोों क़ी सोंख्या के

बराबर है जो बॉल़ीवुड और साउथ इखियन किल्में पसन्द करते हैं। हॉल़ीवुड तथा साउथ इखियन किल्में

पसन्द करने वालो ों क़ी सोंख्या बॉल़ीवुड तथा साउथ इखियन पसन्द करने वालो ों से 3 अकिक है। केवल

बॉल़ीवुड, केवल हॉल़ीवुड तथा केवल साउथ इोंकडयन किल्में पसन्द करने वालो ों के मध्य अनुपात 13 :

12:9 है



\
Number of persons who like Bollywood movies is how much percent more than the number 
of persons who like South Indian movies ? 
बॉल़ीवुड किल्में पसन्दकरने वालो ोंक़ी सोंख्या साउथ इोंकडयन पसन्दकरने वालो ोंक़ी सोंख्या से
ककतने प्रकतशतअकिक है ?

(A)27.5% (B)31.25% (C)22.5% (D)25% (E)None of these



\|

Find the percentage of persons who like at least two movies ? 

उनव्यखियो ोंका प्रकतशतज्ञातकरें जो कम से कमदो प्रकारक़ी किल्में पसन्दकरते हैं ?

(A)32% (B)24% (C)22% (D)25% (E)None of these



\|

Find the number of persons who like Hollywood and South Indian movies ?

उनव्यखियोोंक़ी सोंख्या बताइएजो हॉल़ीवुड तथा साउथ इोंकडयन किल्में पसन्दकरते हैं

(A)13 (B)18 (C)23 (D)27 (E)None of these



\|
Number of persons who like only one kind of movie is what percent of the number of 
persons who like only two kind of movies.(approx)
केवल एकप्रकारक़ी किल्में पसन्दकरने वालो ोंक़ी सोंख्या केवल दो प्रकारक़ी किल्में पसन्दकरने
वालो ोंका ककतना प्रकतशत है ? (लगभग)

(A)250% (B)325% (C)225% (D)361% (E)185%



\|
Number of persons who like only South Indian is what times of the number of persons who 
like Bollywood and South Indian but not Hollywood ?
उनव्यखियोोंक़ी सोंख्या जो केवलसाउथ इोंकडयन पसन्दकरते हैं उनव्यखियोोंक़ी ककतऩी गुना
है जो बॉल़ीवुड तथा साउथ इोंकडयन पसन्दकरते हैं लेककन हॉल़ीवुड नह़ी ों।

(A)2.5 (B)3.2 (C)2.1 (D)2.25 (E)None of these



THANKS


